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[ ] 1 A5 TECHNICAL SPECIFICATIONS
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o | EEEe 9 si . R HE
o e |V | EREw | cwge | LD " size(mm) e | wpenam
BoE, & i = PhES T I E | 1) ]
Power | Res -Range |Tolerances e Insulating
Type , Name D T.C.R Limiting Voltage
SO Y * a0t o) x (Dc. or RMS)) Voltage
D max |L max d L5 . D (DC. or ACP)
0.25 | 1-500K 0.01(L) 8 | 155 250 350
RX70 BIfg ket 8 [ 05 1-IM 0.025(P) 12 12 | 21
(L RX11) 075 | 1-2M 0.05(W) 10 12 | 27
Resistor RX70 1 T 0.1(B) +20 =155 08 | 0 500 700
(old RX11) 5 1'5M 0.255(C) +25 I 35
Q/ATK 07-91 0.5(D) +50 1000 1400
3 1-10M 1(F) 24 | 56
[ ] ﬁ[ﬂi CHARACTERISTICS
E - | EI TEST ITEM e ﬁ'-: El 7} SPECIFICATIONS = B Y ¥ TEST METHOD
9[IEEE Terminal strength =%, #HE Intact (0.125.25)W 10N : 0.5 : 20N 10S
v # Bending =@, #i5  Intact 90° 3%
# # Soldering R=10Q: R=0.02%R R<10Q2: R< % 0.01Q FEEE (75W) t<5s

RSB ETE (Insulation resistance)
RS EES (Insulation voltage)

{X%EX Low atmospheric pressure

=5000M(0.125 — 0.25W) =10000MQ2 (0.5W)
S EHESIETY  No break down

SERHFSTRYY  No break down

(0.125.25)W 250V : 0.5W : 500V
(0.125.25)W 250V : 0.5W : 1000V
0.67Kpa(0.125.0.25)W: 120V

0.5W:250vdc
EV# 7L Thermal cycle R=100Q: AR=<0.02%R R<10Q: R< % 0.01Q -55C/125C 3
¥R 28 TCR R=100Q: 20X10%C40X10%C R<10Q: 100X10°C -55°C/20°C  20°C/125C

R<10W AR=0.01WRz10Q = * 0.02% AR=0.02%R

F% 55 + 39 989

¥ %95 Constant dampheat < + 0.05%RA< + 0.05%R 40 + 3C 95-98% 48h
$= g Vibration R=10Q: R= * 0.02%R R<10Q: AR=Z % 0.01Q 50Hz 100m/s® 2h

BE .. Centrifugal R=10Q: R= * 0.02%R R<10Q): AR= % 0.01Q 500 m/s®  15min

i1 B Shock Rz10Q: R= * 0.02%R R<10Q: A R= % 0.01Q 80-100 7%/53 400 m/s*15min
#MEIPREY Variable frequency vibration R=10Q: R= * 0.02%R R<10Q: ARZ * 0.01Q 10-600 Hz 100 m/s?

Rz=10Q: A=< £ 0.02%Q 102 =R<100Q: AR= * 0.2%R

SREGEGEEIfR Long —term continuous load  |R>1000. AR< + 0.1%R

80°C VR 240h
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